
khjpupg; guPl;ir-2 
RfhjhuKk; clw;fy;tpAk;.

juk;-08       Neuk;-2.00 kzp 

gFjp I 

nghUj;jkhd tpiliaj; njhpT nra;J mjd;fPo; NfhbLf 

01) Rfhjhuk; vd;gjhy; tpsq;fpf;nfhs;tJ ahJ?

1.cly;> cseyd;fs; MFk;  2.. cly;> cs> r%f eyd;fshFk;  

  3.. Nehaw;wepiyahFk; 4. cly;> cs> r%f>Md;kPfq;fspd; ed;epiyahFk;

02) Ranfsutj;jpw;F fhuzkhd tpNrl jdpegu; Mw;wy;fs; vit?;
1. ghLjy; 2.eb;jy;
3. tpthjpj;jy; 4. Nkw;$wpa midj;Jk;

03) ghlrhiy Rfhjhu Kfhikj;Jtf; FOtpd; jiytuhf ,Ug;gtH
1. mjpgH 2. clw;fy;tp MrphpaH 3. khztj;jiytH 4. gioakhztH

04) Rakjpg;G tpUj;jpapy; jhf;fj;ij Vw;gL;j;Jk; egHfs; my;yhjtH
1. MrphpaH 2. Ngw;NwhH 3. cwtpdH 4. ntspehl;ltu;

05) Gjpa tplaq;fisf; fz;Lgpbj;jy; vj;jpwd;
1. clw;jpwd; 2. csj;jpwd; 3. r%fj;jpwd;4. gz;ghl;Lj;jpwd;

06) xOq;fike;j tpisahl;lhf fUjg;gLtJ

1. njhLge;J 2. kPd;tiy 3. Nfhl;Lg;ge;J 4. cijge;jhl;lk;

07) ½ ,lk; jpUk;Gk; NghJ vj;jid ghif jpUk;Gjy; Ntz;Lk;

1. 90o 2. 45o 3. 180o 4. 360o

08) Neuk;> jhsk; Ngzpr; nraw;gLtjdhy; cUthFtJ
1. rj;jk; 2. ,ir 3. re;jk; 4. jhiyak;

09) mUfpy; cs;s glk; fhl;Lk;  tpisahl;L vJ?
1. nthypNghy; 2. nudp]; 3. tiyg;ge;jhl;lk; 4. vy;Ny

10) mzpeilapy; Kd;Ndhf;fp ,Uf;Fk; NghJ 180o NeH vjpNu cs;s jpir
1. tyJ jpir 2. ,lJ jpir 3. ty> ,l jpir 4. gpd;gf;fjpir

11) RoYjy; nraw;ghlhf fUjg;gLtJ
1. yPg; 2. uf; 3. tz;br;rpy;Y rf;fuk; 4. rPrH

12) mzpj;jiytH cl;gl mzpeilf;FOtpy; ,lk; ngWk; tPuHfs; vj;jid NgH
1. 26 2. 30 3. 40 4. 25

13) FWfpa fhyj;jpy; xUtH jd;Dila nraw;ghLfis ntw;wpfukhf nra;J
Kbg;gjw;F mthplk; fhzg;gl Ntz;ba jpwd;
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1. Nfhgk;  2. clw;gapw;rp  3. Ntfk; 4. Kaw;rp 
 

14) cijge;jhl;lj;jpy; ge;ij cijj;jypy; cs;s KiwfSs; mlq;fhjJ 
1. Fjpf;fhy; cij  2. Ngw;Wf;nfa;jy; 3. cl;ghjcij 4.Nkw;gf;f cij 

15) MNuhf;fpakhd czitj;njhpT nra;Ak; NghJ ftdpf;f Ntz;ba tplak; 

1. cw;gj;jpj;jpfjp 2. fhytjpahFk; jpfjp 3.SLS ,yl;rid  4.Nkw;$wpa %d;Wk; 
16) gJq;fpg;gwg;gLk; epfo;Tfs; vit:? 

1. 100 200 2. 400 600  3. 800 1500  4. 700 900 
 

17) xOq;fikf;fg;glhj tpisahl;Lf;fspd; ,ay;Gfspy; mlq;fhjJ 
1. gq;Fgw;Wk; tPuHfspd; vz;zpf;ifapy; khw;wk; nra;ayhk; 
2. tpisahl;L Neuj;ij Njitf;Nfw;g khw;wk; nra;ayhk; 
3. ,ltrjpf;Nfw;g tpisahl;L ikjhdj;ij cgNahfg;gLj;jy; 
4. tpisahl;Lf;F gad;gLj;jg;gLk; cgfuzq;fs; mjd; msT Fwpg;gplg;gly; 

 
18) nrhl;b ge;J ghpkhw;Wjy; vt;tpisahl;Lf;FhpaJ 

1. tiyg;ge;jhl;lk; 2. fug;ge;jhl;lk; 3. cijge;jhl;lk; 4. fphpf;fw; 
 

19) tiyg;ge;jhl;lj;jpy; ge;ijf; fhf;Fk; NghJ vj;jid mb J}uj;jpypUe;J fhf;fg;gl 
Ntz;Lk; 
1. 3.5 mb 2. 3 mb 3. 2.5 mb 4. 3.9 mb 

 
20) mLj;j xypk;gpf; eilngwTs;s Mz;L vJ? 

1. 2020  2. 2019  3. 2018  4 2020 
 

(20x2=40 Gs;spfs;) 

gFjp II 
 

1Mk; tpdh fl;lhakhdJ Vidatw;wpypUe;J tpUk;gpa 4 tpdhf;fSf;F tpil jUf 
 

01]  
01.kdpjdJ mbg;gilj; Njitfs; vit? 
02.Ranfsutk; vd;why; vd;d? 
03.Ranfsutj;ijg; Ngz xUtu; nfhz;bUf;f Ntz;ba ew;Fzq;fs;  vit? 
04.Ranfsutj;jw;F fhuzkhd tpNrl jdpegu; Mw;wy;fs; vit? 

  

02]         (4x3=12 Gs;spfs;) 
1. fug;ge;jhl;lj;jpd; jpwd;fisj; jUf? 
2. tiyg;ge;jhl;lj;jpd; jpwd;fs; 4 jUf ? 
3. cijge;jhl;l jpwd;fs;4 jUf? 
4. fug;ge;jhl;l ikjhdj;ij tiue;J fhl;Lf? 

                                                                                                                                (3x4=12 Gs;spfs;) 
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03] 

1. Nkw;Fwpj;j Gwg;ghl;L Kiw vJ?

2. A, B,C vd;gtw;wpd; nraw;ghLfisj; jUf?
3. ,t; Xl;l tPud; Xlf;$ba epfo;Tfs; 4 jUf?

4. Gwg;ghl;Ltiffisj; jUf?  (4x3=12 Gs;spfs;) 

04] 
1. toptpisahl;L vd;why; vd;d?
2. xOq;fike;j tpisahl;bd; ,ay;Gfs; 3 ,idf; Fwpg;gpLf?
3. toptpisahl;Lf;Fk; xOq;fike;j tpisahl;bw;Fk; ,ilapyhd NtWghLfs; 2

,idj; jUf?
4. toptpisahl;by; <LgLtjdhy; fpilf;Fk; ed;ikfs; 3 vOJf?

     (4x3=12 Gs;spfs;) 

05.  mzpeilapy; elj;jy;………… > …………….vd 2 tifg;gLk;. elj;jyhdJ 

……………..vd;w fl;lisf;F Muk;gkhFk;. elj;jypd; NghJ ………. mq;Fyk; ftl;bilj; 

J}uk; ,Ug;gJ NghJkhdJ ……………………jup vd;w fl;lisf;F …………………ghjk; 

epyk;gLk;.   mzpeilahdJ …………………… nrYj;Jtjw;fhfTk; Nkw;nfhs;sg;gLk;. 

tyk;ghu; fl;lisf;F jiyia ……………Ngu; ………….ghif jiyia tyk; jpUg;Gtu; 

………………… kl;Lk; Neuhf ghu;j;j tz;zk; Kd;Nehf;fp efu;thu;. kupahij 

mzptFg;ghdJ …….Ngiuf; nfhz;l ………….. tupirfisf; nfhz;like;jJ 
fhzg;gLk;. 

     (12x1=12 Gs;spfs;) 

A B C 
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